SCHOOL BASED ASSESSMENT 2022
MODEL PAPER
GRADE 3
MATHEMATICS PART - A (Objective Type)

[Part A: 50 Marks Part B: 50 Marks Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : ey S i b

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: 64+8=
a) 4 b) 6 © 38 d) 12

4) If more than one options are encircled in a question, no mark will be given.
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I Total Marks: 50 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 2 marks.
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Question No.1: 16 is written in Roman numbers as:
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(a) XIv (b) XV
(c) XVI (d) XvII
Question No.2: Which of the following is an even number?
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(a) 37 b) 43
(c) 54 d) 67
Question No.3: The place value of 4 in the given picture is:
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Question No.4: Solve 754 + 143

754 1+ 143.0 S F 4 # Jiv
(a) 789

(b) 798
(c) 879

(d) 897
Question No.5: Solve 58 — 25

g8 — 25-Q/J” :S/Jlr
(a) 33

(
Question No.6: Solve 11 x 2

11 X 2 .y /S 6 A J»
(a) 2

(b)9
(c) 13 (d) 22
Question No.7: There are 37 boys in a class and each boy has 7 books. Total number of books are:
e T TV L L s i £F 37 Ut esle 7 A i
(a) 259 (b) 269
(c) 279 (d) 289
Question No.8:

If the price of 6 bananas is Rs 30, then price of one banana will be:

rned L LT nen30=d Sue )ig AU
(a) Rs 5 549 (b) Rs 24 24 s
(c)Rs 36 36 {—U (d) Rs 180

180 &
Question No.9:

Which of the following is an improper fraction?
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Question No.10: Which of the following figures is equivalant to the given figure.
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(a)

(c)

Question No.11:

Solve % — %
% — %Q/J’ :ll/Jlr
(a) 2 (b) £
€4 (@ 7
Question No.12: Solve 168m 85cm - 111m 12cm
168 %85 <& - 111 X 1228 g/ S 124 U»
(a) 57m 73cm 57 & 73 A& 3‘5” (b) 168m 12cm 168 /~ 12 4~ 6:”
(c) 168m 73cm

168)’-{.‘ 73/”{ Cj‘f (d) 279m 97cm 279/”-;‘ 97/”..{ &‘.{"



Question No.13:

Adnan bought 25 m and Asad bought 34 m cloth. Total length of cloth is:

(a) 39m
(c) 59Im

Question No.14:

(a) 2kg 500g
(c) 2kg 358g

Question No.15:

(a) 98 1 966 ml

(c) 98 1959 ml

Question No.16:
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Solve 5kg 500g - 3kg 250g

201 500 01.)
201 K358 1)

Solve 357459 ml + 631510 ml

98 966 2
98 4959 4 4

(b) 49m 49 A
(d) 69m 69 /”{

510 #5000 -3  Foso e S g S S s A i
201 300010
201 K250 1S

(b) 2kg 300g

(d) 2kg 250g

35 Y459 2 d+63 2510 2 &g S L 15 A Jis
(b) 98 1967 ml 98 Y967 2

98 £ 969 2

(d) 98 1969 ml

Sania bought 42 500m& milk from shop.She used 22 500m£ to make tea and milk shake, remaining milk will be:
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(a) 2Litre
(c) 8Litre

Question No.17:

(@) 22m
(c) 34m

Question No.18:

(@) 12 am
(c) 11 pm

Question No.19:

(a) 01:00
(c) 01:55
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Solve 38m — 16m

In the night, time on clock is:

The time on the clock is:

(b) 6titre 6/
(d) 9Litre 9%

38 £ -16< g/ S 17 A4

(b) 28m 28/1"5
(d) 54m 54 4
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Question No.20:

(a) 1 hour

(c) 3 hours

Question No.21:

(a) ED
(c) OC

Question No.22:

Question No.23 :

(a) cube

(c) square

Question No.24 :

(c) 4

Question No.25:

Zain spends 2 hours in doing homework and 1 hour in playing cricket, total time he spends:
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1 ;,f (b) 2 hours
3 g (d) 4 hours

The diameter of the given circle is:

Number of faces in a cube are:

Brick is an example of:

A
é/ (d) circle

The value of tally mark in given picture is:

(b) cuboid

(b)3
(d)5
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The following picture graph shows the number of candies that each child have. Which child has the least number of

candies? (1 picture = 1 candy)
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(a) Ali

(c) Kaleem
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L}& (b) Waseem
K’K (d) Saleem



